Multiplication and division worksheet

1.144 =12 =

1.12x23 =

2.45 % 67 = 2,672+ 56 =
3.89x%x34 = 3.945+15 =
4.56x78 = 4.768 + 32 =
6.34 x 89 = s-zlgggzig:
/296 x 12 8.3400 + 50 =
9. 40 x 345 = 10.1089 + 33 =

1. A school has 345 students, and each student gets
23 pencils. How many pencils are distributed in
total?

2. If 840 chocolates are shared equally among 35
children, how many chocolates does each child get?
3. There are 67 buses, and each bus can carry 56
passengers. How many passengers can all the buses
carry together?

4. Divide 2040 sweets equally among 60 students.
How many sweets does each student get?
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